07 Other Pneumatic Equipments

Ty aA VRF

HEVAL e ‘ BRI 30 A X He

C FROY 7YV TREFEERAL—ID DRI )

(Fa—TRIVIIyF V2R, BEEGTERENERE )

( PA+F/G URY7 = R) Bils E IE R A )

07

Other Pneumatic
Equipments

SCW
MKY e
TKY e BBt [zp=1
m 1 Yy—zyvy PA+F/G(RUF7ZR)
2 HAR TR A NN
WP-C 3 Ovouvs SuS
4 oyyvy NBR
WNS 5 N PA+F/G (KU 73 R)
WHV 6 XA(ITE TS =i
WU 7 IR, NBR
8 INY P TERT A AR~
TR
BH B
ERTE ERES
{ERRESE ‘C 0~60(BL.EIELARVWZE)
BaEREN MPa 0.9
BEEREA kPa -100
BRAFa1—T MPa RUILYYF1—T

) EREARE20COROETY,

681 | Q/ convum



WP

AP 0%
2
ERES =
A
pu)
WPC — 06 — OI %) X OB RS, g
@ @ ©) 7
| v
>
a
@BERF1—7 \ J
DOEFRAR NEFEY (mm) @RI X %
WPC | Xx+)La%s% WPY | 1=A4>7+1 04 4 M5 | M5x0.8
WPOC | RARMXILIRIS WPG | EF1=AY 06 6 o1 R1/8
WPL | X1ILILKR WPUG | E&1=A4>7F 1 08 8 02 R1/4
WPT | X175V FF+ WPW | ER1=A>71 10 10 03 R3/8
WPWT| XAILTS5vF7+1 WPGJ | L>2—% 12 12 04 R1/2
WPH | ¥> 4Ly v 3— WPLJ | TLdx4%
WPA | #7L\>ya— WPLGJ| BET/)LO%5%
WPUC| 2=#> WPYJ | 75y Fa=Av7+
WPUL | 2=A>T/LR WPWJ | ERJSvFa1=A>V74
WPUT | 2=A4>F 1
N IER
(mm)
st A B c éD E® | H R(&RU) |#E(9)
WPC04-M5 40 - 80 M5 X 0.8 45
WPCO04-01 8.0 20.1 14.5 4 3.9 10.0 R1/8 86
WPC04-02 1.0 6 144 R1/4 17.3
WPC06-M5 40 218 - 1o _MB5x08 83
WPCO06-01 8.0 220 | .. 5 3.9 : R1/8 92
WPC06-02 10 | g : 6 14.0 R1/4 182
WPC06-03 12.0 : 6.3 17.0 R3/8 284
WPCO08-01 8.0 277 3.9 13.0 R1/8 13.7
WPC08-02 10 | 257 | 178 8 6 14.0 R1/4 171 07
WPC08-03 120 | 237 6.3 R3/8 27.3 e eanatc
WPC10-01 8.0 29.4 3.9 170 R1/8 222
WPC10-02 11.0 32.4 194 0 6 : R1/4 27.6 SCW
WPC10-03 120 | 284 : 6.3 R3/8 293 —
WPC10-04 150 | 273 8.1 210 R1/2 485 MKY
WPC12-02 110 | 354 6 190 R1/4 34.2 TKY
WPC12-03 120 | 318 | 224 12 6.3 : R3/8 335
WPC12-04 150 | 338 8.1 21.0 R1/2 54.8
) RRUDRUAHRSDSETER
WP-C
WNS
INANRGXCILARI S e A B (o} éD E ) H ¢ P R(&hU) |#BE(9) -
WPOCO4M5 | 40 | o0 | 1.0 | . - 20 | 82 | M5x08 | 42 WHV
WPOC04-01 | 80 : ' 39 | 30 | 100 R1/8 80 WU
WPOCO06-M5 | 40 | 218 - 20 | |, , [ _MEx08 72
WPOC06-01 | 80 | 220 | 155 | 6 39 |, : R1/8 86
WPOC06-02 | 110 | 2238 6 : 135 R1/4 16.8
WPOC08-01 | 80 | 277 39 | 50 | 130 R1/8 13.1
WPOC08-02 | 110 | 257 | 178 | 8 6 6o | 135 R1/4 155
WPOCO08-03 | 120 | 237 6.3 : 17.0 R3/8 259
H_ |[WPOC10-01 | 80 | 294 39 | 60 | .. R1/8 180
WPOC10-02 | 11.0 [ 324 | o, | ;4 6 6.0 : R1/4 233
WPOC10-03 | 120 | 284 : 63 | 5, [ 170 R3/8 257
WPOC10-04 | 150 | 27.3 8.1 : 21.0 R1/2 46.7
WPOC12-02 | 11.0 | 354 6 60 | |gg R1/4 29.7
WPOC12-08 | 120 | 318 | 224 | 12 | 63 | : R3/8 30.2
WPOC12-04 | 150 | 338 8.1 : 21.0 R1/2 50.6

) RRUDRUAHRESDEETE

682



WP EEPERES =

Jo
fg N~ ER
g (mm)
B
& i A | B|] C |eD] E [ F®] H | 6P| R(&RU) | &EE(9)
- WPLO4-M5 | 40 | 14.6 - | 90 M5X0.8 3.9
v WPL04-01 80 | 178 | 145 | 4 |171[ 39 | 100 90 R1/8 438
Z WPL04-02 | 11.0 | 20.8 6 | 140 R1/4 6.8
g WPLO6-M5 | 4.0 | 15.7 - |90 M5X0.8 73
’ WPL06-01 80 | 189 39 | 100 R1/8 76
“% WPL06-02 | 110 | 210 2% | & | 180 5Ty, 112 R1/4 150
WPL06-03 120 | 22.9 6.3 | 17.0 R3/8 22.4
WPL08-01 80 | 20.3 39 | 100 R1/8 8.4
WPL08-02 110 | 228 | 178 | 8 |236| 6 | 140|136 R1/4 15.9
WPL08-03 120 | 2358 6.3 R3/8 225
WPL10-01 80 | 236 39 | ., R1/8 18.2
WPL10-02 11.0 | 2656 6 : R1/4 20.2
1 WPL10-03 120 | 261 | 94| 10 | 250 53 163 R3/8 22.8
@ WPL10-04 | 150 | 29.1 81 | 210 R1/2 375
WPL12-02 11.0 | 285 6 |70 R1/4 26.7
R WPL12-03 120 | 280 | 224 | 12 | 322 | 6.3 1197 R3/8 28.4
WPL12-04 | 150 | 31.0 81 | 210 R1/2 431

i) RAUDRUABES DBETK

ALWITSVFFT1— e A B C | oD | E Fo| H | P | R(&RL) | BE=E(g)

WPT04-M5 | 40 | 166 - [ 90 M5X0.8 6.2

. WPT04-01 80 | 198|145 | 4 |171 39 |100| 90 R1/8 84
\i i WPT04-02 | 110 | 228 6 | 140 R1/4 158
J ¥y % A WPT06-M5 | 40 | 17.7 -~ 90 M5X0.8 77
WPT06-01 80 | 20.9 39 | 100 R1/8 95

WPT06-02 | 110 | 230 22| & | 180 5 940112 R1/4 17.3

WPT06-03 | 120 | 249 63 | 170 R3/8 247

WPTO08-01 8.0 235 3.9 10.0 R1/8 145

WPT08-02 | 110 | 260|178 | 8 |236| 6 | 140|136 R1/4 213

WPT08-03 | 120 | 27.0 63 R3/8 289

WPT10-01 8.0 25.8 3.9 170 R1/8 22.2

WPT10-02 | 11.0 | 288 6 : R1/4 257

WPT10-08 | 120 | 283 | 24| 10 | 250 743 163 R3/8 283

WPT10-04 15.0 | 31.3 8.1 21.0 R1/2 43.0

WPT12-02 | 11.0 | 305 6 110 R1/4 36.4

WPT12-03 | 120 | 300 | 224 | 12 |322 63 | 7| 197 R3/8 390

WPT12-04 15.0 | 33.0 8.1 21.0 R1/2 53.7

F) RRUDRUAHRE DEETE

TKY st A[B[c[¢D|[éd] F [Gn][H [ J [sP] R&RL) |HEE(9)
WPWT04-M5 | 4.0 |37.4 ~ 90 M5X0.8 8.9

m WPWTO04-01 | 80 |406|145| 4 132/ 39 [100] 9.3 | 90 R1/8 1.6
WP-C ’ WPWTO04-02 |11.0|436 6 140 R1/4 205
- W -l WPWTO06-M5 | 4.0 |40.5 -~ 110 M5X0.8 12.9
WNS S WPWTO06-01 | 8.0 |43.7 39| R1/8 95
— ~ WPWT06-02 | 110467 ' >°| © |32 1416 Tan| "4 |2 Ry 231
WHVY WPWT06-03 | 12.0|47.7 63 ]17.0 R3/8 35.2
WU WPWTO08-01 | 80 |52.6 39 (130 R1/8 219

B WPWTO08-02 |11.0|55.1|17.8| 8 186| 6 |[14.0]14.2|136| R1/4 251

A r WPWTO08-03 | 12.0|56.1 6.3 R3/8 317

G [ H a & WPWT10-01 | 8.0 |53.0 39 1170 R1/8 30.6

| WPWT10-02 |11.0/56.0 6 : R1/4 352

| ——H—=" WPWT10-03 | 120|580 4| 1° 180153 17011632378 40.8

-t -} [WPWT10-04 |15.0(61.0 42 81 (210 R1/2 59.8

o/ od /TN WPWT12-02 |11.0/65.9 6 |00 R1/4 53.7

C WPWT12-03 | 12.0/66.9|224| 12 23963 | > |200(19.7] R3/8 595

WPWT12-04 | 150709 81 (210 R1/2 74.9

i) RALDRUABES DBETH

683



WP

Ty aA UHF
2
SR 5
(mm) A
pu)
i
OV Y a— R A[BlI[B2| C |oD| E| G | H |[J» 6K| 6P R(&RL)| BR(9) B
WPHO4-M5 | 35 |17.8/10.1 195/, 80| - [100 M5X08 | 7.0 -
LR I WPHO04-01 | 80 |265|16.8|145| 4 (215 |13.0] 3.9 [140| 90| R1/8 14.7 ?
i WPH04-02 |11.0/34.0(220 240| 30 [17.0] 6 [190 R1/4 27.0 =4
2 : WPHO6-M5 | 35 |17.8/106 205| , [80[ - [100 M5X08 | 7.8 j
% WPHO6-01 | 80 [265[168|, | . [225] “° [130]39 [140[, [ R1/8 16.1 %
WPH06-02 |11.0/34.0(220| ™ 250] 3.0 [17.0] 6 [190| '“| Rl1/4 28.7 F
WPH06-03 |12.0/39.8/25.3 26.7| 40 |21.0] 6.3 [22.4 R3/8 514
- WPHO8-01 |80 265|175 256| 25 |13.0] 3.9 |14.0 R1/8 16.4
‘ C WPH08-02 |11.0/34.0(220|17.8| 8 (28130 |17.0| 6 |19.0|136| R1/4 294
w | o WPHO08-03 |12.0/39.8|25.3 298| 4.0 [21.0] 6.3 [22.4 R3/8 52.7
S [WPH10-02 |11.0(340[22.7 289/ 3.0[17.0] 6 [19.0 R1/4 32.7
| *34:* —Sr |WPH10-03 |12.0|39.8/25.3|19.4| 10 [30.6] 4.0 |21.0| 6.3 |22.4|16.3| R3/8 55.7
@ 1] WPH10-04 |15.0/44.8/2838 32.9] 5.0 |24.0| 81 [27.0 R1/2 90.7
gk \R WPH12-03  [12.0[39.8/267],, ,[ ;, [359] 40 [21.0] 63 [224[ | R3/8 57.6
-~ WPH12-04 |150/44.8(29.7|““ 38.2| 5.0 |24.0] 81 [270| ' R1/2 92.8
) RRUDRUAHREDSETER
st A[B1[B2] Cc [oD[ E [ G [ H ][ J [eK[L®]#P[R(&RL)| HEE(Q)
WPAO4-M5 | 35 [17.8]10.1[14.5| 4 [186| . [80[23[100] - |90[M5x08]| 92
WPA06-01 |80 |265/16.8155| 6 220 > [13.0[11.4/140/ 3.9 [11.2] R1/8 184
WPA08-02 220(17.8] 8 |281 14.2 6 136 46.6
— WPATO.02 110340155 o 1o 25 3.0 17.017019.0 6. R1/4 0
—— WPA10-03 |120/39.8/253] 206| 40210 '"“[224]63] > R3/8 76.7
= ‘ WPA12-04 |15.0/44.8/29.7|22.4| 12 |34.9| 5.0 |24.0/20.0[27.0/ 8.1 [197] R1/2 | 1180
.ﬁ E ) RRUDRUAHREDSETE
> H C N
U ITTTT g 1

B1
-
-

o8]

oK
o Rl 4 ez B c éD 6P HE(9) 07
WPUCO04 30.2 145 4 9.0 3.1 e eanatc
WPUC06 32.0 15.5 6 1.2 48
WPUC08 40.2 17.8 8 13.6 8.8 SCwW
WPUC10 40.0 19.4 10 16.3 10.6 MKy
! WPUC12 54.8 224 12 19.7 20.9
A _ C A TKY
. N
g i | S =
{,,,,,M ,,,,, NN WP-C
B WNS
WHV
wu
A=AV ITILIR e B F oP HE(9)
WPULO4 17.1 6.0 9.0 32
WPULO6 19.0 6.7 1.2 49
WPULO8 23.6 8.5 13.6 94
WPUL10 25.0 10.0 16.3 11.8
12.0 19.7 225

Vam | i | WPUL12 32.2
L

684



WP EEPERES =

Jo
5 SR
B (mm)
43
B
_# A=AYT4— ot B C #D | od E F 6P | EE(9)
VA WPUTO04 34.2 145 4 17.1 6.0 9.0 4.6
;j WPUTO6 38.0 15.5 6 3.2 19.0 6.5 11.2 7.0
a1 WPUTO8 47.2 17.8 8 23.6 9.0 13.6 11.1
if WPUT10 50.0 19.4 10 40 25.0 12.0 16.3 153
‘,ﬂ/,_k R - WPUT12 64.4 | 224 2 : 322 | 140 | 197 298
L .
i_ < 7 .
w
— F |
AZA>74 fz30 B © @D éd F J oP HE(9)
WPY04 31.2 14.5 4 13.2 9.3 9.0 49
WPYO06 34.7 155 6 3.2 14.1 11.4 11.2 7.3
WPYO08 44.2 17.8 8 18.6 14.2 13.6 13.9
WPY10 46.0 19.4 10 42 18.0 17.0 16.3 17.7
| WPY12 56.8 22.4 12 ’ 239 20.0 19.7 325
i 8
) v i C _ F a
I
b-—H—F
SI g’*ﬁ:;*J “——If —'I
M C ‘
BRia1=-AY iGN B C1 c2 éD 1 éD 2 @ P1 ¢ P2 B=(9)
WPGO06-04 31.1 15.5 14.5 6 4 11.2 9.0 4.1
WPGO08-06 34.3 17.8 155 8 6 13.6 11.2 5.7
SCW WPG10-08 38.2 19.4 17.8 10 8 16.3 13.6 9.7
— WPG12-10 42.8 22.4 19.4 12 10 19.7 16.3 15.4
MKY ,
o~ B 5
TKY , o TS
m a B v e 1 | N | T &
Q E —qr__J4y_ 1 e
WP-C
‘ @) a |
WNS ‘ ‘
WHV
WU REI=AVF(— s A [ B [ci1[c2ed1]ed2]eD1[sD2] E [ G [ H | oK [HE(9)
WPUGO06-04 |38.0(19.0|155|145| 6 4 |11.2| 90 |181| 65 | 6.0 32 6.7
WPUGO08-06 |47.2|236|178|155| 8 6 |136]11.2|20.0| 85 | 80 ’ 9.6
WPUG10-08 |50.0[25.0|194(17.8| 10 8 |16.3]13.6|24.1]10.0]| 95 42 16.6
WPUG12-10 |64.4|32.2(224|194| 12 10 |19.7]16.3|255|12.0|10.0 ’ 28.1
A

m
\
T

C2

685 ‘



WP

AP 0%
2
2~ 3E X =
A~ R =
(mm) G
pul
1
REI=AYTA ot B | Cl | C2 |6D1|oD2] od | F | J | 6P1 | 6P2 |ER(0) B
WPW06-04 | 325 | 155 | |, 132 ] 93 | 112 | 90 | 50 -
WPWO08-04 | 37.7 : 137 8.0 7
WPW08-06 | 381 | ' '° ot 1aq | 1A 136 112 e Z
WPW10-06 | 426 : 172 228 1
WPW10-08 | 432 | 94 8 178 142 | 163136 5 b
WPW12-08 | 505 | | ' 176 | 170 | 107 | 163 |33 =
) WPW12-10 | 500 | 224 [194 180 | " : 3 255
)
Q
511 1
LFa—% st B ci c2 E D1 | ¢D2 | oP | HEE(9)
WPGJ06-04 | 361 | 155 6 28
WPGJ0B-04 | 369 | . 145 1 113 . 4 9.0 32
WPGJ08-06 | 395 : o5 | 126 . o 35
WPGJ10-06 | 403 | . : : i : 38
WPGJ10-08 | 456 : 55
178 | 166 8 136 22
WPGJ12:08 | . . | L. o 65
WPGJ12-10 : : 194 | 150 10 163 73
o
a
SR
S E—THE=l— 8
tlalla
B
I)LARI Y b7 B © ®D E oP BH=(9)
WPLJO4 235 145 7 171 9.0 30 07
WPLJO06 296 155 6 180 N2 47 oI
WPLJOS 328 178 8 236 136 6.0 ke e
WPLJ10 362 194 10 250 163 79 Scw
a WPLJ12 399 224 12 322 19.7 214
. E MKY
Clo TKY
S
s Cm
O e
; WNS
oD —
WHV
WU
BERTIIARTY st B c1 c2 | D1 | #D2 | J 6P | HE(0)
WPLGJ06-04 | 285 | 155 | 145 6 4 171 | 90 33
WPLGJ08-06 | 306 | 178 | 155 8 6 180 | 112 55
WPLGJ10-08 | 338 | 194 | 178 | 10 8 236 | 136 10
WPLGJ12-10 | 382 | 224 | 194 | 12 0 | 250 | 163 170

686




WP EEPERES =

Jo
5 S AR
=
pu) (mm)
g
= 2V F1=AVIA4 e B (o] 6D J &P BE(9)
7 WPYJ04 37.8 14.5 4 9.3 9.0 55
// WPYJO06 450 155 6 11.4 11.2 7.2
2 WPYJO8 53.1 17.8 8 14.2 13.6 9.1
a4 WPYJ10 56.0 19.4 10 17.0 16.3 23.1
‘,ﬂ/,_k WPYJ12 63.4 224 12 20.0 19.7 30.8
F 2
Ql a
Q| ®
B
1
BRISVFIA=-AYIA i B C1 c2 éD1 6 D2 J 6P BE(9)

WPWJ06-04 | 4238 15.5 145 6 4 9.3 9.0 57

WPWJ08-06 | 455 17.8 15.5 8 6 11.4 11.2 7.3

WPWJ10-08 | 53.1 19.4 17.8 10 3 14.2 13.6 9.1

WPWJ12-10 | 580 22.4 19.4 12 10 17.0 16.3 24.1

D1

687





